Notes 9.2

Surface Area of Pyramids

R Al 5i0e5 of DAse are tyuals

Alregular p\rramid_]is a pyramid whose base is a regular polygon. The lateral faces are triangles.

The height of each triangle is the slant height of the pyramid.

Pl

The surface area, 54, of a pyramid is the sum of the areas of the base and the lateral face:s.

SA = area of base + areas of lateral faces

Example 1: Find the surface area of the[regularjpyramid.

s!ant height

4

Draw a net.
Area of Base Area of a Lateral Face
A=lw A =3bh
1
A= 5(5) =1(5)(8)
A =25 in? A =3(40)

A =20(4) =80in* There are 4 identical lateral faces,

$A=25+80=105in?

Try This:

a. What is thejsurface areajof ajsquare pyramid with a base side length nnd alslant

m ofZ centimeters)

=X

\
e Acea base Area lotece faces (4) TE;“
A= Lw A ‘;E’ifh)) SA: 81+ 12,
Gem - 9 Az24(z9" Y
o A:9 ’ SA =
[4:8lem¥ A=H(3)5) 207 o]

[A = 1 cm"‘J
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Example 2: Find the surface area of theg-regular pyramid.

Draw a net.

Area of Base Area of a Lateral Face

A=3bh A=%bh

A=3(10)(8.7) = 2(10)(14) Lo,
A= 43.5m? L A= Tii(E) = 210 m? There are 3 lateral faces.
Add the areas tqéether. -

SA = 43;.5 + 210

SA = 253.5 m?

Example 3: A roof is shaped like a
many bundles should youy bu

Area Root

Az H(zon)
Az (L 18°15)

A= 4(139)
j,q-— 540 £+

Number of dundles
- = You Wil need o

X bundles
e Yy buy 33 bundles
25 £+* 540 £+ e
15(3)4- \(540) to cover -H‘\e,
A5X % 840 roo¥. |
ad ah

[ X

AN bund\eg.,}

yramid.{DnFe bundle)of shingles muerHuw
0 cover the rogf?
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